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Candidates have been called for written test based on the data furnished by them in the online application. If
you do not possess the required qualification as per our advertisement, your candidature will be summarily
rejected.

2. 3R oA g% w § ged 3l eA-qRaH vd 3 W AR Sea-dle F R aw st A e
| UG o

Candidates should read carefully the instructions in the Question Booklet and OMR Answer Sheet before
start answering.
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The question paper is in the form of Question Booklet with 80 Objective type questions based on
the curriculum, carrying one mark each with four options indicated, out of which only one will be
unambiguously correct.
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Candidates have to select the right answer by darkening the corresponding bubble on the OMR answer
sheet by blue / black ball point pen only as per the instructions given in the OMR answer sheet.
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Candidates should write their Name and Roll Number in the space provided in the Question Booklet.
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df JMTANR Feek et A A & Thet AT 51 @7 ¥, 5900 3aR # Hene/geaer s
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As the OMR answer sheet is being machine scanned, utmost care shouid be taken while handling / bubbling
answers. No spare OMR sheet will be provided.

wee gRawr & o g F9 W Afke wT IReF FE (A/B/C/DIE) T 3 W IR Iew Me & B
T Ty 9T forar s arfevl

Question Booklet Code (A/B/C/D/E) printed on the top right corner should be written in the space
provided in OMR Answer Sheet,

TCAh WO 1 3 B, BN A & W 4R I 3 e Iea F A0 0.33 momensd siw) A wee

& U T YF ITAT A Scal AT Swe)

All questions carry one mark each, zero mark for no answer and negative 0.33 mark for a wrong answer.
Muitiple answers for a question will be freated as a wrong answer.

TliedT glel & JHeX Holpolex, HSIZH Biel, TAC daH, §5he, Al TR, TR Alfold], Sy T8
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Calculators, mobile phones, smart watches, headsets, reference books, logarithm table, Camera / Spy
Camera or any other electronic gadgets will not be allowed inside the Examination Hall. If caught red hand,
they will not be permitted to write the exam and such OMR sheet will not be evaluated and legal action as
deemed fif will be initiated against such Candidates. Instructions in this regard already published in our
website may strictly be followed.

WS 9F H 3T T H ITART 16 & & o0 B a1 gar 8

Space available in the Question Bocklet can be used for rough work.
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On completion of the written test, tear off the OMR Answer Sheet along the perforation mark at the
top and hand over the original OMR Answer Sheet to the Invigilator and retain the duplicate copy
with candidates. Utmost care should be given while tearing the OMR Sheet.

eI o ThET WA Qe & e Fae T g oI B At ¥

Candidates will be permitted to leave the Examination Hall only after completion of the examination.
ST F TG, SFHEART AT AT U IR Ieak GRS 3R gEmiia gae oF e & Wi & wmigw
@Hﬁwﬁﬁiﬁrmrwqﬁéwa’ra‘&w% mﬁraﬂwmaﬁ'&ww%mma@r
T ST ST 9 e R srmwear & odaw @ e i ey st 4 ¥

After the Examination, candidates should hand over OMR Answer Sheet and signed Admit Card to the
Invigilator. OMR Sheet of candidates, who have not handed over the Admit card to the invigilator, will not be
considered for evaluation. Responsibility rests with the candidate to hand over the admit card to the
invigilator without fail.

el ST HEROT & TRl T WO AT Sieen, graifn seeficant $ glaw & v f F of
wee T arw

The questions in English version alone will be taken as authentic though guestions are given in Hindi also for
the convenience of the candidates.
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dhedth s (FAfAe) / Technical Assistant (Civil)

frdlr fsger ABC & folw 10T ABC 907 3iR 10T CAB 30°, Ifg 3ol BC &Y wiarg b’ § oY agam
AC Y Fars fra=r g2

For a triangle ABC, angle ABC is 90° and angle CAB is 30°. If length of side BC is ‘b, what is
the length of side AC?

(@ b (b) 4b
© 2b (d) b2

am*mﬁﬁgmamsﬁm quaoz%?ﬁaamw%lmaﬁaw

The distance between two places is 9 km and is represented on a map by 1.80 crm. What is the
Representative fraction on the map?

(a) 2,00,000 ) 1/2,00,000

{¢) 1/5,00,000 (d) 5,00,000

AT &1 30T ——— A F T & aar g

Clinometer is used to measure }

(a) @Il & &I &I / Angles of slope (B) aifetst g / Horizontal distance

(c) @W’Eﬂ / Altitude (d) '{IJR@RT AT / Magnetic declination

fordr W@r AB &7 f9afer 142° 200 & 3T Sior ABC 114° 40 ¥ & Y@ BC v fafier
T 7

The bearing of a line AB is 142° 20" and the angle ABC is 114 ° 40'. What is the bearing of line
BC?

(@ 3740 (by  256° 60"
(c) 27°40 (d) 77°40

fFdr Y@r AB &1 g faier S 320 E ¥ iR Tediw weiwfy 80 160 B ¥ ar W
AB ¥ greafds afier fraer &2

The magnetic bearing of a line AB is S 32° K and the magnetic declination is 8° 16' E. What is
the true bearing of the line AB?

(a) S23°44'E (b) S40°16'E
© N40°16'E (d N23°44'R

3 755-TA(C)



10.

e & | Hia-ar Fue a9%d & R F v 30 98F 17

Which of the following rule is more accurate for area calculation?

(8) FET AW IH / Mid ordinate rule

M) R a@’%&‘ﬁﬂ 9H / Trapezoidal rule

(0 HHd et AAFH / Average ordinate rule
(d) THYET FT FIH / Simpson’s Rule

aTelTT FIF F HAEHAT S Al gidr §

The thickness of graduations in a leveling staff is

() 10 AHT / mm (b) 5 ﬁef?ﬁfml_rr;
© 50 fAHA /mm @ 1A/ mm

HeT df & 3N TA = 100.595, I 9¢ TIF Yo = 1.795, 17 & Re=Tda & We 3o &6
R 93 = 3.895 8| del Wdg ¥ IW I F Peaae i 51 frae 172

R.L. of the building floor = 100.595, staff reading on the floor = 1.795, reading on the staff held
upside down against the bottom of the beam = 3.895. Find the height of the beam bottom
above the floor level

(@) 569 A /m ® 210#H /m
(c) 8.895 # /m (d) 4595 A /m
SteraEs s AT —— F1 fFdiFa F& & AU EeEE Ao §

Biochemical oxygen demand is a measure of the oxygen required to oxidise

(a) &EfAS® 9e1e / Inorganic matter
(b) S GG / Organic matter
(¢) variad 9ErE / Floating matter

(d) & 3R / Total solids

9T Sl H HFTH AT dllg Haad ——— & 30% 1 g TRl
The maximum permissible Iron content in drinking water should not exceed
(a) 0.5 ppm (b) 0.3 ppm

() Ippm () 5ppm

4 755-TA(C)



11.

12.

13.

14.

15.

16.

fAArER & v 9 & e ———— & afde =8 gom
Sand for construction purpose shall not contain silt more than

(a) 12% - b))  20%
(c) 8% @ 18%

Wﬁeéﬁtmﬁﬁmﬁw%a@mwm%

Fine aggregate conforming to the following grading shall not be used in reinforced cement
concrete work

(a) AT &7 1/ Grading zone I (b)  AFET & II / Grading zone II
(c) AT &7 111/ Grading zone III (d)  ATZFT &7 IV / Grading zone IV

1000 mm x 600 mm & FATSHT &7 & fAU ReTan A §

Minimum thickness of glass required for a glazing area of 1000 mm x 600 mm is

(a) 3mm b)) 4mm
(¢ 4.5mm _ (d) 5.0 mm

AIGYe &1 & JFT FAT gl &2
What is the size of modular bricks?

(a) 190 mm % 90 mm X 90 mm b) 200 mm % 100 mm x 100 mm.,

(¢) 230 mm X 115 mm X 75 mm {(d) 230 mm X 118 mm %X 115 mm

T RS dar ¥ vldw & [T diss 9eR we= frw =i

Bond stones shall be provided for every —————— of the area of stone masonry wall.

() 0.5m2 (b) 0.25m?

() 1.0m?2 (dy 0.75m?

SRR A & fae, At F Mivd — F 3foF F AraEd § e wew w@
T STTam|

For plastering measurements, no deduction shall be made for ends of beams and openings not
exceeding

(&) 0.10 m? ' (by 0.20 m2
(c) 0.25 m? (d) 0.50 m2

5 755-TA(C)



18.

19.

20.

21.

22.

s e gemeRer &R & fw defe 3 At @1 sgaas s fraar g §2

What is the minimum ratio of cement sand mortar for masonry and plastering works?

{(a) 1:3 - (b) 1:4

& 1:5 (d) 1:6

TSl T Gl 3JIUE.I$ — o S|

The modulus of elasticity of steel shall be taken as

(a) 20 kN/mm? (b) 200 kN/mm?
(¢) 200 N/mm? (d) 2000 N/fmm?

frelr werd &1 ot IUTE 200 GPa ¥l wErd #T wided IoniE 80 GPa §1 of Wl @ Tew

The Young's modulus of a material is 200 GPa. The shear modulus of the material is 80 GPa.
What is the bulk modulus of the material?

{(a) 160 GPa (b) 146 GPa
() 133 GPa (d) 20GPa

vt ¥ ¥ Uiy & os v g RRE F aoie & PRifyg das U & e AT g
oy

Effective length of compression member of length ‘L’ effectively held in position and restrained
against rotation in both ends is

(a) 1.00L (b) 0.50L
(© 065L (d 2.00L

W 1 & FAT §9  geiad @7 # F F Reg o) W swon s §) o F sfwan
forreret fehcter 82

A simply supported beam of span 1 is subjected to a point load W at the centre. What is the
maximum deflection of the beam?

(a) WI%/3EI (b)  WI%/48EI
(¢) 5WI3/384EI (d)  W1*/30EI

200 mm % 200 mm ¥ IFER I 2m dEF F 1 kN/m H 9 § ¥ {FaRa 9w 8
Fearel Rl GRS § & 3gefad 3R O @ fiF F1 3fear dRaAvEe §

Maximum bending moment of a simply supported RCC beam of size 200 mm % 200 mm and of
length 2 m carrying a uniformly distributed load of 1 kN/m is

(a) 1kN-m B) 2kN-m
(¢) 4kN-m (d) 0.5 kN-m

6 755-TA(C)



23. @ﬁﬂﬁ‘w’ﬁéﬁéﬁﬁéﬁ?ﬁﬂﬂﬁﬂﬁﬁﬂﬂﬁ%ﬂﬁﬁﬁ@?%fiﬁmm

24.

25.

26.

219.

& Haee q¥ Sfser AT ¥
Bending moment at the support of a fixed beam of length ‘7 carrying a uniformly distributed
load of intensity ‘w’ per unit length throughout the span is

(a) wi®/8 b))  wi®/24

© wi*ng @ w4

g g O oF T ¥ Hg T gl WX g B
Centre of gravity of a right circular solid cone is at a distance of

(a) Hh/3 from it’s base (b) HA/2from it's base
(¢) A/4 from it's base (d)  3h/4 from it’s base
T Sf3or widwer 9 FHEAT BT Bl

In a beam bending stress is maximum at the

(a) 3SRl 30T / Neutral axis
(b) <1 F oMY vF 3N / Top and bottom of the beam
(¢ #iF & 3T / Bottom of the beam

(@ 99 F Fg / Center of the beam

ARG HT AT TG giar Bl
Hydrograph is a graphical plot of

(a) ‘ETﬂjﬁlﬁ RT FI1H FHA FT ¥aig / Discharge of a natural stream versus time
(b) |G WEE da1H HHYT / Surface runoff versus time

(© a9 S AT / Rainfall versus time

(d) 9T-STel T T WSS / Profile of ground water table

g9 Wi ¥ AR g ararel 7Y awerr ¥

Canals which gets continuous supplies from the source throughout the year is

() 3CATE #g¥ / Inundation canal (b) TEIREYRT AT / Perennial canal
(c) SITHIN 78T / Watershed canal (d) % #igY / Alluvial canal

7 755-TA(C)



98. @t & MY ¥ FW gg & A W & WY GABOT NI AT § WG~ B @RI

29.

30.

31.

32.

T ST B

Discharge through right angled triangular notch with height of liquid of ‘I’ above the apex of
the notch is given by the formulae

(&) Q=0417H? ® Q=0.85 H¥?
@ Q=1417HF @ Q=1417 H¥?

wrdRr TREsE & iR 0 3R TS F A § IR Aftwa vag & ad §

Condition for maximum discharge through a channel of rectangular section of width ‘4’ and
depth ‘d’

o g

(a) b=2d by b=d

© b=4d (d) b=15d

RS & far F ——— W A & B wge Bear S g

DPC is provided in masonry wall at

() TolTa ¥R / Lintel level ' (b) E‘Ijﬁ??ﬂa % 1T/ Below foundation
() A TR/ Ground floor level @ Bd % ¥R/ Roof level

Judier @1 w9 3 & faw SER 7 Hag ¥ Seesare w15 FEeE] g §

A cantilever projecting from the face of wall to form a bearing is

(a) i/ Corbel ()  Fad/ Cornice
(©) f&ﬁ?ﬂ' / Quoin (d) UrI/ Pier
Ao-5Ter g gomer # RYeTor gehiss gy fe=r Sar gl

Inspection chamber is provided in sewage system at
(2) <5/Bend

(b) Wr=e & 9Rads/ Change of gradient

(¢) ¥ax g # gftads7/ Change in sewer dia.

(d) 39deFd wefl/ All the above

8 755-TA(C)



33.

34.

356.

36.

37,

mwmm*m&mﬁwmwmm
What is the minimum width of brick masonry used for load bearing wall construction?

(a) 230 mm - (b) 250mm
(¢) 300 mm (d) 345 mm

méwm@mﬁaﬁaﬁ,g@rwﬁmm

In one way simply supported slab, main reinforcement will be provided
(a) ELGH e & Peaaer & g/ Along the bottom of shorter span
(b) IR T & MY & T/ Along the top of shorter span

(¢) ¥R T & Reaaer & arer/ Along the bottom of longer span
(d) <o BT F i & gy Along the top of longer span o

m—wﬁmﬁﬁwﬁmﬁaﬁmﬁ%ﬁvﬁ@ﬂ%mﬁﬁaaﬁaﬁm
ST &

A structure constructed across a river to raise its water level and divert the water into the
canal is known as

(a) Tl 3% RGAF/ Canal head regulator
() T I/ Spill way

() AT/ Weir

(d) TTFTH /Escapes

WS FhTe +T FAT 3297 &2

What is the purpose of pre-stressed concrete?

(a) @wshie &7 ufFd vd wIffcd @ FEET / To increase the strength and durability of

concrete

(b) bl FAaT & TTTH B FH FET/ To reduce the deflection of concrete members

(0) FhT AR & HoaT TRAVYT FT ST / To increase the cracking resistance of concrete
members

(@) 39gFT @l / All of the above

HIe [ Bames & v ardT 79 o &
The Indian Standard code for Concrete Mix Design

(a) IS 456 (b)y IS 2430
(¢} IS 10070 (d IS 10262

9 755-TA(C)



38.

39.

40.

41.

Ot 7 T -y 3AweTer TR HRT 3R afer AR W EREr Fr T 82

Which of the following design method adopts safety at ultimate loads and serviceability at
working loads?

(a) afker T fafe/ Working stress method

() T 9 [/ Ultimate load method

(© @@r T 3 / Limit state method

(@) wiidearcHs faawer g f8esst/ Probabilistic analysis and design

e 3R e & YAy AiE H 3T ———— Bl g
The ratio of elastic modulus of steel to that of concrete is

(a) ﬂﬁ"x’lﬁ? HeAqTet / Modular ratio

(b) GTIEA & Jgard / Poisson’s ratio

() VATl A / Modulus of elasticity

(d) 99T T AYTH / Modulus of rupture

FARR uftd dar & T TR AT G 3@ Sl &

For cantilever retaining wall, main reinforcement is placed at

() FEETER TA GAR F el T, & Told & Ny wd €l Fold & MY / Earthern side
of vertical stem wall, bottom of toe slab and top of heel slab

) FeatR B aR & 77 98, & w9 & ¥ U g T & aeiel¥ / Earthern side of
vertical stem wall, top of toe slab and bottom of heel slab )

(© AR T SR & Fel UE, O Tl vd §if T & & el / Barthern side of

vertical stem wall, bottom of toe slab and heel slab

() wraR VA R F FET 98, o TF U gel Tl & o / Earthern side of vertical
stem wall, top of toe slab and heel slab ‘ '

gy TS @ F B R v & R ReR dRe & auen ae & [@e dgeager
FHBT

The critical section for ealculating the punching shear for an isolated footing of effective
depth ‘d’ is

(a) TIFH & Fag T/ At the face of column

(b) FIAFT & WAg §°d G W /At ‘d distance from face of column

() TaFH & Tag /2 E@' T / At ‘d/2’ distance from face of column
(d) TFT F Tag T'd/4 gU T/ At ‘d/4 distance from face of column

10 755-TA(C)
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43.

44.

45.

THTET TS gy &
The term ‘pedestal’ is used to describe a Vertical compression member whose effective length is
less than

(a) HF T1¥qH HEH T2 T / 2 times its lateral dimension
(b) THF WIRRdw AT T3 AT / 3 times its lateral dimension
(¢) TS UIRES 3AH O 4 AT / 4 times its lateral dimension

(d) 8% TRRds 3 T 12 AT / 12 times its lateral dimension

® AR RR G & hwaw ¥ aPE A g B oG 95 wRwg B b
FET ST B

Load that has a 95 percent probability of not being exceeded the life of the structure is known
as

(a) T AT/ Ultimate load (b) SUFER X / Serviceable load

(©) T39S 9K / Design load (@ BfRsT ¥R / Characteristic load

IVETAT Hde b & od S ———— F w7 F = o

Joints provided in unreinforced cement concrete floors is known as

(a) TIEAR IS / Expansion joints (b)  THOT S / Construction joints
(¢) T=EFET S / Control joints (@ o9 S / Lap joint

IR AT HY AT F, FAISE gaent aRt # 3eied s gy 17

In RCC construction, what is the purpose of “splicing” reinforcement bars?
(a) Wl SR T FAS HH FET / To reduce the length of reinforcement bars

) TRET AvR & yad Hr BT SEIT @AT / To maintain continuity of reinforcement

in a member

(c) YYUHHOT UaTeT &IAT / To provide insulation

(d) &7oT Uiae & FE=T / To enhance corrosion resistance

11 755-TA(C)



46.

47.

48.

49.

50,

T UTAatord S A 7GR Sioafad war $Rd T g7
In a doubly reinforced concrete section, what does the term “doubly reinforced” indicate?

(a) T GIET A & / The section is twice as strong

®) o 3N " ST TR F g Hr 9T R Sar § / Both tension and compression

reinforcement are used

(c) & T H Yaelsl @I Sl % / The reinforcement is placed in double layers

(@ M F yger I@r ST § / The reinforcement is placed at the top

Pt & Si9-a7 99§ 3R g § st AEEit F scone 3R gRaas k@ g &2
Which of the following contract is suitable where wariation in quantities and changes are
anticipated? o

(a) WHW / Lump sum contract (b) 3IBEH &I H?:IDH’EI / Item rate contract

ORRIGEG] 31‘@3?1 ! Percentage contract (d) 3@ 3IFe/ Term contract

waT v R S erlt & Ava fr AN & yoes F R J9F HIS §

Indian standard code of practice for methods of measurements of building and civil
engineering works

(a) IS 456 () IS 800
(¢ IS 2000 (d) IS 1200

#HET T PR FAcROT a5h 3 AeTemeT et Yt et §

Nearly vertical lines in a soil grain size distribution curve represents
(a) THA FT ¥ AT HaTl / Uniformly graded soil

() 9 325 Far / Gap graded soil

(¢) dd AT HeT / Well graded soil

(d) 3I9gFd #H & P15 FEr / None of the above

R e o F{ET B AT 0.60 ¥l F HaT H R e F4r 82
A sample of saturated clay soil has a porosity of 0.60. The void ratio of the clay soil is

(@) 1.50 ) 060
(© I/ Zexro (d) 0.66

12 755-TA(C)



51.

52.

53.

54.

55.

56.

oY el & UTTA Gushish T A0 & T7 7 A ol &
Plasticity index (PI) of a soil is calculated as

(a) LL-PL ) (b PL-LL
(¢ LL-SL . (d) LL+PL

T TR 95 950 S SaRT AT S &, Seerdr &

The soil which are transported by the running water is called

(a) USRS FEr/ Aeolian soil (b)  SellG FaT / Alluvial soil

(9 TIA HEr / Marine soil (d) YR HeT / Lacustrine soil

el oper 1 e W51 ¥ AR sER confeew W 26 8, A AT CARARIS STHAE §
The liquid limit of a soil is 51 and it's plastic limit is 25, then plasticity index of the soil is

@ 26 ®) 76

© 18 @ 26

HHere e Farlt & faw, afFy g RaRor 3mkg gy &

For cohesion less soils, active pressure distribution diagram is in

(a) AT / Rectangular shape (b) URGARNF / Parabolic shape
() @I / Linear (d) ﬁ‘c‘i’&iﬁﬁ / Triangular shape
A &t Tyar & o & ¥T H &7 I Bl

Porosity of soil is calculated as

(2) RiFFIr &1 3M=Fa/3RAT FT 3T / volume of voids/volume of solids
) REaat s mﬁﬁf HIAG / volume of voids/total volume

(c) T & HAAARIFTIT &1 3T / volume of water/volume of voids
(d) TdT &1 ma?r/@w AT / volume of airftotal volume

wicer St forelr §ram &t 3raeia & &, Feenar §
Footing which supports a wall is called

(2) T¥E giAAE / Raft foundation by EIFT Tf&ar/ Combined footing
() e Eﬁﬁ‘ﬂ‘ / Strip footing (@ faRg tﬁﬁfﬂ / Isolated footing

13 755-TA(C)



a7.

58.

59.

60.

61.

g9 TREToT T IO & T Rr e g

Recuperating test is used for calculation of

(8) 99 T &TFT / Efficiency of pump

(b) TSN H Sor &1 / Water pressure in conduits
(c) e U & Ae3 / Yield of an open well

(d) 9dg W A 991§ / Surface run off

Darcy-Weisbach formulae is
(a) Hi=f’1LV22gd (b) I—_IL = L n2V/R42
(© V=0.85Cg R0 05t @  3wFd F §RE A / None of the above

FF-UNETT J97 F4AT BT 22
What is self-cleansing velocity?

(@) 9¢ I AW 3 @or & fRew g felde & WA / The velocity at which solid

particles will remain in suspension without settling
b) 37 3WFTH I G4 Rl R oz & @fde B 51 9ar ¥/ The maximum
velocity that can be achieved in a sewer line

(© a8 99 W AW a3 & gaoe T UE B ST / The velocity at Whlch sediment
will start to deposit in a sewer line

(O a8 a7 W Bl o & auee Budor sET YE T &M / The velocity at which

sediment will start to scour in a sewer line

150mmarm$amm¢¢ﬁatﬁﬁ-amawmm$ﬁmmwmm

The gradient required to generate self cleansing velocity in a circular sewer of 150 mm dia. is
of the order of

(a) 1in 30 ) 1in 50

(© 1in 100 (@ 1in 150

T 3T 3 5 ST B, ——— AWHET W5 R 9 vaahe d1Fasm A
BOD 5 represents 5 days Bio chemical Oxygen demand at temperature of

(a) 30°C (b) 20°C

(¢ 10°C (@ 5°C

14 755-TA(C)



62.

63.

64.

65.

66.

fret R wraEfr & ke el ws W R foeg & IpReare agal & der
FEAT § :

The number of vehicles passing a point on a road during a specific time period is called
() IARNT Yelcd / Traffic density (b)  ITATATA &7 AT / Traffic capacity
(¢) ITARITT A™dT / Traffic volume (d) HHITAT &T97T / Possible capacity

UEF 6T TAE U IHN I ST FAT 36297 gl 87

What is the purpose of providing camber to road surface?

(a) ¥ gl 9t & T/ To get the sight distance

(b) UsSFH FT gdg A T STl & Ay %T:;l To drain off rain water from the road surface
© FeFRw ¥ wue & BT/ To avoid skidding -

(d) Far &r BIGICEL H U HA & ToIT/ To improve the ride quality

Tehel 9 dleel AET HT e gielr §

Width of single lane carriage way is

{a) 3.0m (b) 350m
(¢©) 3.75m (d) 40m
AFT A 8 Fia-a1 77T @5 §7?

Which of the following is a flexible pavement?

(a) waferT Fde @Wsa / Reinforced concrete pavement

(b) HET HHC Fshlc WSS / Plain cement concrete pavement
(¢) deX 9135 IFh! TSH / Water bound macadam

() Sqﬂa?r H T FE &N / None of the above

AR F FlA-A1 Fee I8 IR yomel & & e sawery &2

Which organization in India is responsible for administering the GRIHA rating system?
(2) 3Eae M RS FEfe Mg /Indian Green Building Council JGBC)
(b) T AeTh G (AIMETH) / Bureau of Indian Standards (BIS)

(¢ Far 3T vatEawor Besa A ﬁq&r (Uﬁééﬁ) ! Leadership in Energy and Environmental
Design (LEED)

(d) Fot TH FORH FEUE (ESHAR3NE) / The Energy and Resources Institute (TERI)
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67.

68.

69.

70.

Ra a1 3w &1 waf@w weg = §7
What is the primary goal of green building design?

(2) THHTT-GAT FT HHF FEAT / To expedite construction time

(b) FAT 3YHET H FEAT / To maximize energy consumption

(¢) TATIOT & YHE &Y A e 34N EROTIAT Ufge ST / To reduce environmental

impact and promote sustainability

(d) ¥eed s grAfASAT AT / To prioritize aesthetics

T 7 & *la-ar sHrShselr see oA Al §
Which of the following is an eco-friendly building material?
(2) ¥UHSHT/ CSEB (b)  35cl IW & $E/ Fly ash bricks

(c) CTERIET 82 / Terracotta bricks (@ vudr sddie / AAC blocks

3w W & el gued war F gar & ol RiFaat @ gl ger e
The percentage of voids filled with air in a soil compacted under OMC shall be around

(2) 0% ®)  5%-10%
© 100% @  75%

gSCa# e aier a8 AT aiar g &, o

Optimum moisture content (OMC) is the moisture content when

(a) UCTAT HTOFIH 8ar ¥ / Settlement is maximum
() IR AFHTH FAT § / Permeability is maximum
(©) vidser fFa ARFaH 8l & / Shear strength is maximum

(d) [oh HTcd F¥FaT giar & / Dry density is maximum

16 755-TA(C)



T1.

72.

74.

75.

gfasei forfs &1 3uaier & fow o arar g

Biaxial Geogrid is used for

(2)
(b)
©
(d)

n

SF g TEAr & AT / Construction of flexible pavements
HET-GTI0T &I UsheT / Prevention of soil erosion

HAG-T % TIETUT / Sea shore protection

yafeld gedl AT/ Reinforced earth construction

AT Rudter & fav B s F ¥ 5 e &1 suder @ srar £

Which of the following chemical compounds are used for ‘soil stabilization?

(a) WHE / Cement G Hfegaw EFﬂTI%?{ / Calcium chloride
(¢) g#AT / Lime (@)  3udea w3l / All the above

e Tt & oo & AR & ~zaw dag —— &l

Minimum width of stair in an office building shall be

(&) 1.0m (b) 1.25m

(¢) 1.50m (d 20m

FAR T GIRE BT ©

Floor space index is

{a) HIT FT el e S Twe/CHlE & 9% / Total plinth area of building/Plot area
(b) ¥HaT H HIfT EAGA/ET FT Celled &TR / Carpet area of building/Plinth area of

building o
(c) oTa T $[d BFGA/CHIC &1FBe / Ground floor area of building/Plot area
(d) vele STEEe/HaT FT ey &T%a / Plot area/Plinth area of building
Fehie g1 & T qET el # pH BT |
pH value of water used for concreting shall be
() 4YFH /Less than 4 (b) 6 ¥ FH /Less than 6
(¢) 598 &H /Less than 5 (d 6¥ FA gt / Not less than 6
17
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76.

77.

78.

79.

80.

IS 456-2000 % IFHR, YafAd Fehie & T dehie &l sgeAdd I —— M|

As per IS 456-2000, the minimum grade of concrete for reinforced conerete shall be

(a MI15 . ®) M20
() M25 (d MS30
FHic F TATRCHISSL &l 3T

Use of plasticizer in concrete will

(a) UufFT HT FLEM / Reduce the strength

(b) TAII-ETHAT T FGIUIT / Increases the workability
(¢) UHa T N S & T / Reduce curing period

(d) IR & AT F NG FLET / Accelerate the setting time

.g’;’? .

Mot 3 FT AR F T ¥ S S B2

Which are known as the alkalies in cement?

(a) Si0=2 & MgO : (b)  AlOs; & Fe203
¢y Ca0 & 5i0: (d) K20 & Na:0
e & & Fle-ar el g9 & afa & FRor 72

Which of the following is the cause of loss in pre stressing force?

(a) shic H 1T / Creep in concrete () TR 9T [TEY / Slip at anchorages
(¢) T H #IT / Creep in steel (d) 3‘51'{53?1—"3 sl / All the above

et & @ fbw T8 &0 sualer Hea-gr & A0 A & faw faar s 82
Which of the following method is used to calculate depreciation?

(a) & faf®r fafr / Sinking fund method

(b) arihT eh e /Annuity charging method

() &AW doid Y / Diminishing balance method
(d) 39gFa welr / All the above
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